E BIOLOGY (Theory)
COACHING Srafemm (Rigia)

Estd.2001 (314) :
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Note:i)  This Question Paper consists of 30 questions.
ii)  All the questions are compulsory. .
iii) Marks for each question have been indicated against it

iv) Each question from Q. Nos. 1 to 8 has four alternatives - e
of which one is the most appropriate. Choose the correct answer among the four

alternatives and write it in your answer-book agains.f the m-xmber o.f the
question. No separate time is allotted for attempting multiple choice questions.

(A), (B), (C) and (D), out

fEw: i) wWwm-wA30 i |
i) weft o afeEr € |
iii)  wern v % 3i FEH A Q@ T E | ;
ffeum s (A), (B), (C) ot (D) f & ot & v

iv) e s s 1 8 7, T S & W .
a1 watfies a8 |mﬁmfﬁ:mnﬁﬁﬁﬂﬁm§ﬁam3&m3m—gﬁmﬁmmaﬁmﬂwl

creqres s 3 ford s @ e 7 e |
1. One of the macronutrient given below plays a key role in food production and
normal growth of the plant. (1]
A) Boron G

o
B) Copper @ﬁ
Q/C:rbon
D) Uranium

ﬁﬁqwﬁwﬁﬁﬁﬁn—mmﬁﬁ%@mmaﬂtmqﬁaﬁm@q@m

Fman 27
A) dRA
B)
C) @mEA

D) e
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2. Which of the following enzyme is called "Joining Enzyme"?
A)  Plasmids

LB)/ﬁNAligasc

C) Protease

D) )\my!lnsc

e Gamenl o @ ReR UTET A T daen” wEa @7
A) e

B) DNAw®EW B

o ww A

D) e

3. Identify the following figure:

A) ac . B) Leaf
C) Embryo D) Seed Coat

@i R e o R vt ;

A) =m

C) wm
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4. Which chemical is involved in the transMission of peyye impulse across a synapse.|1] (

A)  melanin

I\?-)/'NﬂCl
C/)/‘ Acetyl choline %&@
v = ik

D)  Oxytocin
ST (Argdam) % AR Al — oA B TARG e 1 R e W gE

A)  Aenfm
B) NaC]

C) tHifResmet
D) siioRE

5. With reference to organisation of life, Rana tigrina comes into which category? [1]
A)  Community
%pecies
C)  Organism

D) Biome
<fia - Here 3 2 @ T Rfien few S 3 siia s 27

A)  wgEE
B) wivfw
C)
D) =mm
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6. Which of the following bacteria causes cholera?

1]
md/\’il;rio cholerae

B)  Rhizobium QE]%;IJ

C)  Azotobacter

D)  Lactobacillus

ﬁmﬁfﬁgﬁﬁ@%ﬁm%m%mmﬁnm%?

A) R wed
B) Ussiferm
C) wWiEw

D) @

7. When the genéticdlly engineered bacteria clean u p pollutants from the environment,
they are called [1]

A)  transgenic animals |
B)  bio-diesel
C) Dbio-gas

: D) —bio-remediation

A T 8 Te el e srgwen 7 v 3 reifi R e 2 v = wad
A) RS it
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issue which function as a unit to conduct water and mineralg

8. Name the compl®* leaves. )

upward from root t0 1€

A)  Phloem

B) Parenchymd
M/Q)/lxylum

D)  Sclerenchymd

mmmammﬁ@ﬁmmﬁmﬁ@ﬂﬁﬁ@ﬁwwm%w

A wd e Bl
A) WA
B) A
C) ™ TR RIS
D) mHE
// . ) . . . l? 2]
9. /What are the factors responsible for population explosion in India’ |

I ® e ~ frewie & @ wmR §?
&

jﬁﬁne the term 1nﬂorescence What are the major types L iforcscSicnln foes l[l;?

“gm"sn&aaﬁ?ﬁﬁﬁw.wmamﬁamﬁ:ﬁmw&
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11. Answer the following :
I ; /SX&Which phase of growth curve shows rapid and maximum growth?

AZsiH
b)  Whatisthe term used for inducing early flowering in plantsat low temperature?

~ 2]

c)  Name the specially designed equipment used to measure the rate of growth of
shoot length of plants. o}, 1} 1

d)  What is the hypothetical plant hormone which is responsible for initiation of
flowering in plants?

AR & s dftm iﬁlﬁ‘}g

A)  gfe e e 5 A e ot s 3 A 22

b) el f Frex e e g R e e 3 o e e ST R e 27
c) i i o i g et s o e e ) e e R S e gy |
d) el H qod SEA e o fore ufeieum wew geE wiA-H 82

12. Write any four advantages of Bio-diesel. 2]
”%a - ST & B AR AH AT |

1/3/\{here does spinal cord is located in human beings. Mention its main function. [2]
_,ﬁﬁﬁmgaﬁ@m@ﬁ%l THTS 1 TJ@ FE Fare |

14, Give reasons : 2]
" ';) Habitat is called an address of the organism.
b)  Finsare an adaptations of fish to aquatic life.
ST 130 :
a) E % AW % YaiaTE F91 wEd 57
b)  ielia sfem & forg T woe F smEEE AR § |
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of balanced diet? Reason out the special diet "ecommendation

women?
(2]
| pfereen o PR fyenati % R, IR sty e \

l 5 What is the jmportance
e to pregnant and [actating:
AR AR v ET

e

/-I
/

1 r./le. an example for cach
a)  Acrobic bacteria which fixes nitrogen
b)  Anacrobic bacteria which fixes nitrogen

¢)  Cyanobacterin which fixes nitrogen
Photosynthetic non-sulphur bacteria which fixes nitrogen

of the following : 2

.'r’.@

DRIE)

d
Wlﬁmﬁﬁmmﬁwwmm%mﬂfﬁww—mmm:
a) gy s

b)  aramuia ey

c)  WEAE]

d) mmﬁwﬁﬂﬁtmvﬂmg

/l‘ aw a neat diagram of human lung and label the Larynx and-trachea parts : (2]
/_//;w%qumw 3T TATET e S fmferRae s taifera R | s v varwes |

/18. A person has protruding eyes, stunted growth, retarded mental growth, delayed

\/ puberty and low metabolite rate. [2]
/ a)  What is this condition?

b)  How to prevent it?

wa =afeh Praferiaa e @ difda @ -

- 3 g R WG IW gl

- mq@

- W

- Rcifea dtemmaen

- Jumd - R} A=

a) 3 fRufq =t = am R s @2
b) 3o it | e TR @=n o weman 27
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19: Observe the diagrams apq answer th
e

L)
%

following : o
é% .

a
) Are these type of stomata found in monocots or dicots?

b)  Mention their main function,

LR B RO S e R —

2) 36 R i vt i e w § | v e de w5

b)  ze wE = =T |

ion in dihybrid cross is different from

20, Gw is the phenotypic ratio of F,-generat "

¢ monohybrid cross?

fordam it 9 thiaﬁaﬂaawmwﬂaﬂmqaémmﬁmﬁﬁa@m%?
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2]. Give reasons : [2+2=4]

Z
% Sino-atrial node is called pacemMaker of the heart,

b) Person with blood group '0' called Universa] donor, L /

Wa?ng-q:
a) R arfim (Sino-atrial) 5 1 B P HER i wrgy 22
b) 'O wfir wrf aret wfR @ AEEE TN Fgg F

@IE

22, Differentiate between "vascular camblum" and " ‘cork cambium". [4L\

\//mﬁw o e e 3 o |
lk

&/ an with 'A’ blood group marriéa a woman with blood group 'B'. Work out a|
/“Cross to show possible blood groups that can be expected in their off springs. [4]
AaﬁtB!?saﬁar?—‘rmgm afﬂ‘éﬁ@mamﬁ%amaﬁmmﬁ@asﬁﬁm@

hid FAT3T |

yrit/eshort notes on :- | ’ [2+2=4]
% Mode of nutrition‘in Yeast. | | ,

b)  Sexual recombination in Baéteria.

frafeiflga w afem o fafae

a) i o - il

b) i & it gaaie=
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[4]
?Dé“’ a schematic diagram of "Carboy, Cyclc"/

mﬁ—%m@zﬂm\m@amml

zﬁljjénetlc code is universal and common for almost all O
xplain.

‘goeft T wvt Sl 1 SFARNE e e e it AR d 2

1 i E% [1 l
27.a) ~ What is "Criss - Cross inheritance"o =%

i ' . females?|2
\/{ Why is red - green colour blindness more common 10 males than € 2]

i ; hart. [3
c)  How is colour blindness inherited? gxplain with the help of flow ¢ha [3]

a) Torm i dvmfa = @t €2 A

b) gl v Rt g e f ot A R
|
c) mﬁmﬁmmmg?@maﬁaﬁm%mm
A S & :
28. a) _Name the scientist who discovered C, cycle. . | [ ]]
Nz X
(/ky){/Draw a neat schematic diagram of C, CYCle in plants. [
? 2
c) Justify your answer why C, plants are most efficient than C, plants: (2]
a) Cwﬁ@awﬁmﬁ%ﬁ%mmml
b) diHC, T T U e AeEg 3 SEe |
c) Ctﬁtﬁ?ﬁaﬁ&ﬂc ﬁﬁﬁH@Em@ﬁilwmﬁ@@ﬁQl
29: a/ Write any four salient features of Class-Aves with two examples. [4]
(21

/b/) Define "Alteration of generation", with one example.
a) 2 e 23 g Rt it o g i fafie e e |

b) o SR 37 g - e e fore |
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ﬁ. )  What is somatic gene therapy g [1]
/;) List out the steps involved in EX-Vivo gene therapy, [4]
¢)  Name two genetic disorders cal be treateq by this technique. (1]
a) i o - ITER 1 A &7
b) qmaﬁaﬁ(ﬁx-wvo)smmﬁﬁ%“ﬁﬁﬂwm\qsﬂaaW|
¢) e & it 2 AT R )

EgE
Ak
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